.TZ.VV\ pe.ra,l:u.re = O{QPQWO‘QVI l: VI.SCOS;&'LA
i | J/

Common source og novn-li\nmvi\[b is ta
variaion o{f v\‘.scosib with *zw‘:e.ml-ur(.
|ce r\e\eolea g e plon ool olefemols ow
Hu waicroscopie deformahon vmedhanisut.

We consicls diffusiown creap’ which resulbs

iv o Neoloviau r\«.e_o‘o(jb.

P 42VaD, ex F(RT

'Pa.\'ame{’exb: d = arm'vl ol{a,w\d'e,f ~ | wewe

T= few lpe,ra‘-u. e

=5 3
Vi = woolae vol wwe 1.1%F- 10 _‘ﬂT

D, vel. o!‘;.ﬂ:'. constout  Q.0-16 %“f
EA = vol. ali((. ack. zvu.rbj 5.4 %|

2 = mwol. qoo conotomt 31y
K wel

Newloviiaun beeaunt y\f:r(‘_/.) 14



But M hes Arrbenius o\eFe.Molz\A.cq an [

TW {'lC.WIPQTQ"(AXQ 'O(QFQV'IO’QV‘CQ 05 HLA f)"(-
ax powsa Hal fackor is often neglectedl

RTud®

/4 = /«, ex[?(‘é—fr) fo =@ tuy

Exaw.P\e F"O\olbun CouCHc floa un"l& Tarao‘i&&"'
4 Z AT

— &wdars la.:)e,r ¥arvu/.\
obthe hot +°P hou\w(ata

T' where 2hear is localized .

[w Hr absence of ‘neahwﬂ L:S vis coud Aiss{?a\n‘am
Hoo T- Fic\o! s iwoependeut og- velocity

= ome—wa:j QOu.P\b'ufj r V=V (T) but —I_%T(v)
Viscow energy Aisai Poa.l"fOu leacln o o -toowy coup'.



Enerey balaunce equohon
Ry ]

pep oL+ VelvpaT -« VT1= g:d 4pr
Assaup Hows:

1) Negleck baak prooluchou: rhs =o

2 Sl:ca.o(j skale '—_:1; <o

3) 'Plnjsieal parawebers aw coustaut (p, ¢, «)

=p V‘EXT"“ YvT]l=o0 o(-ic' Hecrwa.
£<e J{‘:c\m\'uﬂb

Uy Flow s i« cowpmi‘ol—t

-_-[z(")] owd T=T() = T=[%—E

TeLyTl = v« YT + T (9h)
= lvz) o] {o = 0
- =
T
D —VeaVT =0 >D 4T =0
ozt

Bowwdesy coudihows: T@)=T, T(H)=T, TzT,



Timl:.u-okl—mrc ?t‘dol: AT=T:-T

|w|’tava.l’|h3 bwsiea: T = ']"B ¢ AT z

Vzlec(hj & pressure \Eidd/a:
‘V'[l‘* (V_! +€:!)]+VTC =0 T= P-g-?a;_
Veiv =0

ole.v{a,“ort‘c ghrown iw ¢Mf0vul.wl' Jotuu.:

T- ;«(Vv+VV)=‘}4]: e ’“}

Frow [:looo Seomej‘rb: V, =0 - Vz‘.(_ = vz‘x =0
VX X =0 (;row cohl\'u.u.;;n)
"-)X T:x)
T
ve -2 (§
= a” '|'erwJ.> w zZ- \M.ouww"w loou‘a.ua va.w‘s'a

| 2 W L =
QZ[V ?z] T ox ° V=W

v Cowelle exewurb, s dowain is {uﬁim'l-e

iw x-olir, so {kat %E=O



Solve following ODE: 2 r~<T<=>)”=l-‘£]=
vie)=0 v(R)=u

whevre R = ,4 Q,:P(%_-

=T + AT
T = I3+F y.

AT =Ty =T, >0J

" ’-;_\é. = < here ¢, =T = dhear shrem

lute 8\-0.{'6 oviel:

T = }-4 %\é s dQJ{Wl.l'I.ow ag ,_4?
lw}eacau‘-e owce nore!

viz)=T _S A(_‘,@)

<
va) = é“"P(TsﬁT/:/H ) d=

O“Fp;cu“' ivxLe.arcl-,, Lud' ’\Y, A'\_CC-TB Hor



ex poven Eial ga.cl-of com be aFProx{qu-ea( an
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R 14452 (462 H 2 Te
B

Tm:)lar sevi ed exlaaw-a(Ou q+ 20

ya ng)— ¥(o) +—£} 2 = -a+abz -—q(t L)

b <l b> | .
Lobare ﬂ approx
Q*bz)
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(@) = ~ =2 AU z)
? BTy 1+ % % ]Z'l‘s Ts H
< L P
V(Z) = T 215 7T dz dz’= dz de = Bole’
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e
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2 St slheer <trend T awd gfu.J ve:loc{\'b QTS ‘-ot) ?la.l—e
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, b
V(<) =u = B 25 (e70)
= _ Upe 8b
=> T = T.F'a e &b |
subshkube
abz’
\/(z,')_ e = Lot _Eaq - .él_ ¢z
Ea AT

se that a-b = T
Hewiee Hix vdec.ib ?rogll.l 15!

=
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u EAT
xF(
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